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(—).Listening Comprehension (fy 733E#% )

i ARBEHNENZANB B EHEAHSESFROBRBRRSAFRROEN, ¥4, 8%
4y BB A AR RIE , R 08 B 2 e AR ] R . PR FH BRI HER R X
4 A B 2 A SR 1S B2, WS I ORI S B R OF S 40 0 R R A O
SH, RO, M FARMWEY, EHENIBRT BERXRARRANTE, —— MM, N R RS EBOTRE.
HARHEBNNAESEFENT.

{1)Short Conversation{ %5 X3 1E )

WX~ B B AERRIZHAE R R B AR T, 98 R BE A B BT R AR RO (S
E\,#Wﬁt?‘ﬂﬁtﬂﬂﬂk?ﬁdﬂﬁ‘)fﬁlﬂ,ufiE%%ﬁﬁ*Eﬁﬁﬁtﬁp Gl e, 248 B Y Mk T4 51
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B, REXEFTAXEIN S, RSB R L, HREEZADPASEHEBI— 5,
MEBFHEERENET HHAX- F4riR8E Y CEESHSENTR, BB EHAER, M-
K=,

(2)Passages( &L TR IR )

WX —BBEE G BEEASS R T —EIAF, BT, — R, ZBE P
BEXEVHEBRYBEN . LEF HRESHAXFER T ERE2E, BHIHEMAL HS
REMFWMAT FEEKT LA, Hilt, MERERIET ] F REMED R, —hrF %,
~HBEEFN, -0 Y g BT

(3)Spot Drctation( R SWZE )

XE—FHAR, XFEREY -8 120 @688 CHiE =R, W AE =
WANIEHBRE  BAHEW, $- BT E5EE, ERLEBEFHASEE 10 25,50
PMEANBEE, RS BRE S, 5E N RER S M SR8 %R L 0.8 5

X MEEN, —FEFESE RBER A ERTEE ,EN AR T HIA KT E L
Xo EHEME, ¥ TRBEEMN TS ERREAMEAS 8, TERRP RTEELRA
MHEZA BT ERARS KB PN ES%NEE, WMRBREIXEWTHNAE, BN X
BEZEA LTS ET XM EREXLMAERE L TR AF,
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KFERBEN AEHRXNFATSEXENRLHE 04 EE, RPNUREEEE & B 60% , 3t 18
HE, RS 40% .36 1288, ARV EHE, EE8H 55 40% ,3 12 B, EILAE Y
60% ,3% 18 8,
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REARAF U TE MO SR PF R 5B R, R EEATANERDTEN, CRIESTENEE
EREEENHFHR DY, WEESSENEENEEL BB,

BB R REN - SRR ERGR B ENS A, —BHG, - MEERE IS, R
?W\E%)ﬁJﬁiﬁiﬁﬂﬁ#&ﬂ:,#ﬁﬁﬁﬁi‘b*ﬁﬁ,ﬁ%ﬁ(%u PrLIBSK B £ 4 WO, SE SR EE B
RAWAERRAIT o HAN RESE FREEERTHRE, BN ERERSAKER, Wi
BEEMRE X KNMEHT e, WERKERERBBABN(KEREERAR)(1—6
%),3£5,000 BZ AN . ABEEEPE T LWICIZ SR IMERSERNEH T,

TR BT L4 B % AR B A2 QR SURE SOR S QM LR QM B iR 2, QLB R
¥, OME LT B ANLE, R T o O 2 WX R EH#IT AL, SN R NP
+15,

(=).Reading Comprehention( 35 iE )

(REZRBWERM NEE XK RYHE £ 7888409 W 5 88, B8 8 F % S0—80 ) /45
E3 K 70 18 /5050, BB AR X 0% L E FIERSRETE LN ARERMERAE B Y
IR & 58 40 5 BB NRENBN 13, BEERSEE RS XEAR, NEAEERE
1000—1200 i), AR B BRIE BT 1200~ - 1400 F], EREEE 35S M2 N8 ¥, HERES
W EEXHNEE XN B EEE .
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B ARBURGE B0 B BB, DN 5 IR TR, S O L B 0 D T O MK R iR
A A M ERER B ABE R, R B MR @GR

FEEMIBS XS HETMHRE ., XEHRER:

(EERSE

By Rk me B AR A X RN RS, ENEMA X RMET TRAEE NS KR
BE. RTINS — X 3 Wk BB 0 MR, L

3 P

F—D b EMa, RV XEREEQEEE R RRETE O ARG

BoH mERIALTERE, mAEXRREEPRABTED, S ERBY X BNER
ERYEEL 2lipe 1oL L

(2)WEAAEH

BRERXERGENT L EEERR LT RN XRY—HHK, BEREURBLETHAR.
LB RS F0EBEXNEXARY, — MFOEE SRS ARE, AAHE, R
Wi % R B HBER K

EEWLHEVHREAF . —HRERE S ARPNEENLREY S LR EE R
#5 who,when where,which 8, why XM B KM . B—MIERWABLAEEXET RN S
o HEBEMHEEEMPH except.not{ mentioned/true) , least ¥ .

(3)IRCHEER X

TR SRBEER AR E B X GRS B — R, B X
KB BB EREOENT, CANAGNE LARESTOMR LT XFRM, Bk ¥
T LUREE £ F 30, R B AL AN R A S MR ST &L,

(4) R S EF03|

20 SRR RAER - X R P ER, SHREREEFEAANTHZE, AN
SEREBMEEHAEE, ALK GWRMEEMES B OB, XREEHERYEENEL S
SRS o R B 5 AR SR S BT 4R 00 HE 418 L B R & ST I UM T A B R — BB 0
BAHHRERRBHEE NS HES '

(5) MR AT MEASE

ERGBEH-XABNLFARRRBERTLEREOFE, D5 S K EEY LB SRR+
RS ERRA BERSE, SHELANARENRS AELTHAAE & BORE.
A, EEHRHEAMBASEEEAL TN THAESREME, KU IEHENHNRE L, .
B E SRR, B R E RS BB

(9) 25850 S EE S RS

1. Translatiori from English into Chinese( 2#&i3)

LEAFLEBED AR OF 1996 4755 0% ME 1§ HE A EBRS T3y RED,
RS 10%, INRY L BT ALY . X AEUKEMMLS MR BN EBEAY
AN, ER-TNEERBRIVESNE -

KiER—FURERERWSEE , TR 5N 4 N EERERE PR T WERIE, —
#4—5H, -MEBMBERRAEDIAPRAGAZ, AERBEXFRENNBREEREFH
F AN XD . Feh BN ARRMREN, URRTRARLE INTEREES
STRLET X0 e T

KT ARIMGA b H R THTOR R EH R NBE N RN, R E R,

RIEBORHIT LA R SRR AL SN,

(1)E%

BRRAERFENR, 1AM b, B0 Gt T B TR 058 3, B, % 2
3, ARSI AT E X EAE, BRI RABUREEAEMRE REFE S FRUL Y
AF, FU LM REREREEM T T MEN A R TR RS TFrRE mER%Y
EEARINEEE EFREMATAURE ADZHNXER, LENGHEERE LTI A
B RERENGTHEICMES, MEAMGE FERAEBR ML IROSBEEHBRAEDPHRL 0
i AR EARMEARBNERCERL N REE BER-AES, - ARITSRRTLR,
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25 7 bR R TEAR B ARl L T TR AT SRR N 9 20 % 6 4 R S 4 T 9 D5 A S
RiLHME, ERX—-BE, BREEMFCAENFRLHE, B HESBSORE, URLEDHGH
0 i 17 B 1 45 7 TET AR O/ B A L iE A9 E R A R R TR MR MR RN A IE I R
B, X BLFREXHEN, BeH 3 ERAMR TR IO RSB, FEIRXGRGMAMER.
TRGES RERE ARG EETHR T, 6 200 %0 B8 & 1A R 0 — 280 8 8 , 3K
R IBERREAVR, EER LT, FEFHFRTCRE, 3 F A BN S, AR ARNK,

()T

%E!@ﬂlﬁ%ﬁﬁﬂiﬂlﬁﬁﬁmﬂﬁ "la,iﬁﬁ'ﬂlf)b&rrﬁ?ﬁmﬁﬁ MR EE—- BTN
A WFREIRZ AL RETIE, RIGBEE SO TRER AR S ERIGERE,. REAM, 5
EEBOPERE WRGEHAE RAEHHHO T, HB DT IHE, A%x‘!ﬁﬂ#’ﬂ%ﬂ:o BE%iR
E%EH‘JE B ERETE, FE o, &imsiE.

2. Short Answer Questions( &) 5 o} & )

M IR X R E S B ER R - X EEH B RBR AT  5 T xm&*x&xm% ]
S A R RO B 0 A A 1S 4 e T P 5E 4 33 R 18 S A0 3K B T A O AL B AL
REBMETF, MR T EENS B REENEAEN. ERERROER BALAAEX
Wt IR SE R R R, B M B A R A B R AR OB VT EMRE ), B B —
£ 120 A TR B ) O (R LS00 P, LS B A —SE ML A S BT BRI IE IR AE . B R e R
FIAR B , 585K AR R 00 B2 R i = MR (G 4,

AN BRI R, RSB BT AR, LAY E R, R
M EERCZN IR RAEER SR AN ARAE, MRS EoEE AR, — KR E®
5 RRHEE . CHER AR ﬁxﬁ*ﬁﬂbmﬁﬁ)‘c*}taﬁﬁﬁfuﬁiﬁlﬁ AEEW
B AT X BUECCH S BT AR, LS N IR LA R — BA R E LR A
5 4 LY K R T B bk?&imé]ﬁv’*ﬁ*&ﬁﬁﬁ BEGARSY. A6 ERESGTLENES
HETE RS ,

MBERG AL RS, RERPF X, ERAKANNE, REE T H ANEEREE, B
BEEAH WS RERE NS EE. ¥ FRELTAR xmzaj:mx W, EEAR
BXERGAREHATE, T 240 LAY RA X ERE" R G a3, PPN i X
B, B & H 0 A T A EMRE R, 8T TR G UG R R R I VTR B B 5
FRE X, ERBEN, ﬂﬂﬁ&ﬂ#?ﬁ'ﬂ‘]tﬁ BB PR F TR BRI 1T R K N gm:T:\t
MHEBWAR

B HERBTHNERS BRI EE— & BRAERT ANARRELR, i!ﬁﬁ‘ﬂ%ﬁ
A, DNEEAR FUSHINE, SH R, 62, MERSEREREEREN, LERSEHE L
Ef. MRAXREFHGMES, € X500 FRRBETITTOWE, WA RNETRT KE WA,

3. Cloze{ %ﬂﬁQ)

o3 38 P R % A T S i NS mﬁﬁ%ﬁﬁﬁ ’E’l‘}ﬂiﬂ?l: ik Rk
B ERAIREFEFEHEIR, IFKBERE—-R 200 BEHANEXPEE 20125, B —HA,
HWAETEET., TRARIRZ RS - OF GRS QEMNBRE; QL T XER
o STFRMNAEERSEREXEARBRLETFURR, AL I EMNER E EHTRER.
B eI Rk, THXEAE MEXRNPLEERNTIRAR, REBITH T2, B
HWFARA NE X ERRMLETXXRSEFEAT  EHBESR,. EX—ABP, NFHEE
T RAER BHREIOER LS, Eﬁ:ﬁ%*ﬁﬁﬁtﬂZE,—ﬁEfﬂiiﬁtﬁ*
AOREFAERESHAERER, EXHEBRBLR GHESXECH EREARZNELRTE
W, AT R IE S B R e

V Writing( X 5 1) .

PR, FARUENBFA R T TE EANBEATARB R, X ENRRAK M L8
FRACEHGFCEE, AR BEFUTILA:

(1) REEFH

fFAFERETRYHER—5, i’%ﬁiﬁﬂg FRBAE B A B R A AR S RS,
XX BEEX AREX ME BG5S, LB B, B ERRENER, /P,
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KXW EEN REURKFS, BULALRD N FEERMEES KBER, UBATHER
AR X ARG AR RELE UREEERNAR.

(2)RizEWE

BPIFLE Y, 5T R X, 8 K R OB R B A 2 Rk
ik, ERAARY AASHEL. XENKEERSGEANER,

(3)BERAN . R

BB FE AR R MR, 5 B S i

(4)RTEAK

REFTBRRUTIATE:-CHALGREOBAETER;OEBRRTER: D
HAREHRHOBEREMN.

VUSRI ST X FF SR E9 % AR (6142 41 (81 E 89 30 538, 404 L BFSX 30 43 BB B (L 7R 2
— S BRI ¥ KBOT LA AT

(LB B4 578, EBAESRET T IE B BE , LR %,

(DR 1 55, REXRORBERLZH. CR & Fet. LHUREXERERNTIRE,

(3)INEE:2 5h . MESBRAMA, L5 L] KM E.

(4)iTHE0 5M0, HERERSBITL., M RS R SRR STERE, —,

(S)¥#5:3 5r4h, EERAMMENTTRIM. FR-LERRIWIEE TRBRETHY
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Part I Listening Comprehension (20 minutes)
Section A

Directions : In this section , you will hear 10 short conversations At the end of each conver sation , a ques
tion wnll be asked about what was satd  Both the conversation und the question will be spoken
only once  After each question . thae will be a pause  During the pause, you must 1ead the
four chowe marked A). 3), () und D) and decide which 1s the best answer  Then maik tne
correspond ng letter on the Anvwer Sheet with a single line through the center

Example: You wrll hea: :

You wnll read :
A) 2 hours
B) 3 hours.
C) 4 hours
D) S hours
Sample Answer (1)
Frum the conversatian we knou that the two were talking aboyt ome work they will start at 9 o’
clock 1n the niorning and have to finish at 2 in the afternoon  Therefore, D) 1 the correct an
swer You should choose D) on the Answer Sheet and mark 1t with a single line through the cen-

tre.
1. A) To hunt for an apartment B) To talk to the landlord again
C) To run away. D) To leave the place as soon as he can

2 A) Walker doesn’t need a scholarship
B) Walker dgesn’t bave much money.
C) Walker doesn't kriow how to apply
D) Walker 1sn’ t applving for a scholarshup
3.A) He should ask John to call the secretary
B) He can’t use the secretary’s phone
C) There's ndt enough time to phone John
D) The secretary wll leave before he does
4.A) Approach the problem in a logical fashion
B) Time how long 1t takes to solve the problem
C) Take a couple of aspinn and then rest a it

D) Try using maltiphcation first
5 A) The electncian came to repair the lamp B) The lamp was taken to the repair shop

, C) She had Pearson {ix the lamp D) The lamp was replaced
6 A) She may need to take another course
B) The math course 1s too short.



C) The graduation cate has been changed.

D) She should have gotten a better score.
7.A) He is not used to big cities. B) He s vex;y tall dnd thin

C) He will be hard 1o find. :- - : D) He should-watch what he does.
8. A) He wants to buy a two-bedroom apartment .

B) He wants to stay there for twu' das. ‘

C) He wants to rent a two-bedroom apartment.

D) He wants to become a rental agent.

9.A) You can go to the Allied Irish Bank. B) Which bank do you want to go?
C) The Allied Itish Bank is on this way D) The Bank of Ireland i a hittle farther.
10.A) He didn’t miss the classes. . B) Those classes are really interesting
C) He will have those classes . 1)) He doesn’t like those classes

Section B Compound Dictation

Directions: I 1hig.section , you will hear a passage of about 200 au)r(b three dmes* Yhe passage is printed
on your Answer Sheet with abour 50 words missing. First, you will hear the whole passage
from the Seginning to the end just 10 get u general idea of it . Then , in the scond reading, ywu

- xbill hear a signal indication the beginning of a pause after eath sentence , sometimes re son-
tences or just part of u sentence. During the pause, you must wirte down the qnissing words
wu have just heard in the corvesponding space on the Answer Sheet . There is also a dt]fel ent
signal indicating the end of the pawse. When you hear this signal , you must get ready for
what comes next front the recording . You can check what you /xave writtéen 'u.\hen the passage is
read to you once again without the pause .

Public officials and candidates for public office routinely use public opinion polls to keep track of what the
people are thinking. An important question is the degree to which these polls should guide léaders in thenr ac-
tions. There are arguments for and against the use of polls as the basis for policy decisions.

Pollscan 11 to effective government by keeping political leaders from getting too far
out of line with the public’s thinking. Ina __ 12 society, the 13 of a
public policy often depends on the extent of its public support. When a policy is contrary to the public’s Je-
sires, people may choose to disregard or 14 _ it, thus making it counterproductive or

15 3 .. Further, when government pursues a course of action with which a large

16 of the public disagrees, it risks a loss of public 17 , which can have a nega-
tive effect on its ability to lead: The Reagan administration, flying high from 1981 to 1985 was brought jow
in 1986 by pubhc reaction to news of its secret sales of weapons to Iran. 18
because the Ayatollah Khomeini’ s regime had held sixty three American
hostages in 1979 and 1981. B 19 o
' “Effective government” as Walter Lippmann wrote, “cannot be con-
ducted by legislators and officials who, when a question is presented, ask themselves first and last not what is
the truth and which is the right and necessary course, but What does the Gallup Poll say?” During his presi-
dential term, Jimmy Carter proposed five consecutive inflation fighting' programs, changing his plans with
each shift in public sentiment without having invested the political capital necessary to gét Congress and the
country behind any of the efforts. ___ 20

Part 11 Reading Comprehension (35 minutes)
Directions: There are 4 passages in this part . Fach passage is followed. by some questions or unfinisked
statements . For each of them there are four choices marked A), B), C) and D). You should
decide on the best choice und mark the corresponding letter on the Answer Sheet with a sin-
gle line through the center .
Questions 21 1o 25 are based on the following passage
Men and women report quite different heaith risks and behaviors, according to a report from the:Centers
for Disease Control and Prevention (CD(). The study found that men are more likely to-say that they are
werweight, to smoke, to binge drink, and to drink and drive. Women are less likely to exercise regularly,
but they are also more likely to wear a seatbelt and to have their-blood cholesterol ( 18 B.#¥ ) checked. The
{indings, released Thursday, come from data wollected in 1996 and 1997 as part of the Behavioral; Risk Factor
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Surveillance System, a telephone survey of adults.

Young men smoke in slightly greater numbers than do young women——28. 8% compared, with 26.
6% , and men overall are more likely to be smokers—but, the difference between numbers of roen and wom-
en smokers are relativeiy small——25.3% of men.gand 21.1% of women in 1997.

On a positive note, over 75% of women and nearly 71% men reported ever having had their chdpsteml
levels checked. And the majority of people——about 75% of women and 62% of men———say they always
wear a seat belt.

When it comes to access to healthcare, men were siightly more likely to report having no heallh ipsurance
(15% of men versus 13.5% of women). Bui women were more likely to say that cost was a barvier to
healthcare (13.4% versus 9% ).

“Most of the risk behaviors associated with chronic diseases and injury can be changed thmugh mme ef -
fective state and local aealth policies and programs, more encowragement frgm health practitioners. . , more
counseling on preventive measures. . . and more convenient ways to aceess preventive, services,” CRC oﬂit;ials
write. “States can use these new data to develop and evaluate programs to reduce the health nisks of all adults
21. Which of the following statements.is correct acoording 1o the passage’

A) Women always say they are overweight .
B) Women are more likely to exercise .
) Men are more likely 10 drink and drive
1)) Men often have their blood checkeu.
22. What is the positive note according to ihus passage”
&X) A large number of men and wornen have had their cholesterol leve b~ checked
B) Young men smoke in slightiy greater number.
() Both men and women always put away their seatbelts
D) Both men and women have uo health inurance.
23. This passage tocuscs on __
A) study on smokers
B) health risks diflerences between the sexes
() differences between men and woinen

) healthcare
24. In this passage, the author gives us daia of all the following aspects hxcept
A) smoking B) wearing seatbelts
C) healthcare Y driving

25. What is the main idea of the last paragraph?
A1t is important to change the risk bebaviors.
\BY States should take measures to reduce the health risks of all adults
C) Risk behaviors are dangerous.
D) Healthcare is unnecessary..
Questions 26 1o 30 are based on the follownng passage :

Signing on the dotted line may soon become a thing of the past. Two weeks ago, Conggess passed legisla
.tion giving contracts formed over the Internet the same legal force as wniten contracts. President L,l;mnn has
signaled his intention to sign the bill.

When it becomes law, “everything frum openmg up an acoount to getting a loan, evexythmg that requines
a signature on paper, could be done electronically,” says James D. Spellman of the Securities Industry Associ-
ation, a Washington trade group. The bili makes & mouse -click the legal equivalent of an ink signature. In
doing so, it removes the credit card as the sole means of transacting business over the Net. Some industries see
it as a great way to cut costs and expand E-commerce. But the bill is vague about many things——like what
an “electronic signature” is or what will prevent eompanies from changing the tesms of contracts posted-on the
Web. The legislation assumes that the private sector, will work out the details, - Consumer groups wqrry about
ndent‘tythefl and the pownble margumhunn)n of poar people without computers.

“electronic signature” can be anything {rom a keystroke to a password, Typing your name ay the bot-
torm of your computer screen, or hitting the “return” button, could suffice. The bill defines it only as “an
electronic sound, symbol or process, attached to ur logically associated with a mggract or other record.”
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Specifically, the bill says that a contract cannot be declared invalid just because it was entered into on-
line: It does, however, carve out a few exceptions: Family documents such as wills, divorce agreements and
adoption papers still neet’ to be signed in ink. Also," utility companies, landlords and health insurers must send
out paper notices if they're cutting you off or throwing you out.

26. What does this passage focus on 7

A) Signing on the dotted Hne. B) Business on the Web
C) Signing through the net. D) Contracts on the net
27. Actording to the legislation, you _
A) will never use your pen B) can get a loan electromcally
C) cut costs D) make profits

28.-Which of the following statements is NOT correct according to the passage?
* A) Thebill is very ciear about everythmg.
" B) The President has signed the bill.
‘C) Consumers worry about the theft on the nets
D) Credit cards used to be the sole means of transacting business over the internet
29. What does “it” in the sentence “some industries see it as a great way to cut costs and refer to?

A) Computer. BB) Net:
() Doing business over the net. D) E -commerce
30. Which of the following is NOT an exception according to the bill?
A) Wills . B3) Divorce agreement
C) Adoption papers. D) Loan papers

Questions 31 to 35 are based on the follenoing passage
When is a rock not a rock? * sounds like smething you might find m " Alce in Wonderland “ So does
the answer which is, "When it appears in a Chinese painting.™ Nothing seems more durable and mamutab e
than a rock. But, as an exhibit at the Metropolitan Museum of Art makes clear, therole rocks play m Chinese
art is very complex.
To begin with, the rocks in "The World of Scholars’ Rocks: Gardens, Studios and Pamtings, ™ though
they appear to be found, natural objects, may not be. Often they have been carved to givethe illusion of na
ture, but with distinctive characteristics making them worthy of being placed m a scholar’ study
“In Versailles or other formal humpean gardens, there are classical [ sculpted] figures,” says Maxwell
Hearn, who curated( % ¥¥) the exhibit. “In Chinese gardens, the place of the figuraltradition 15 taken by
racks. " For Chinese artists, painting a rock is not intended as a depiction of nature, but rather “an expression
of human ideals. ” The Chinese have never had a tradition of just going out and pamting the landscape, *
Hearn says. ”Chinese landscape painting is conceptual rather than naturalistic If you <ee a mountain with
subsidiary peaks, it’s a reflection of imperial order, an image of peace and prospenty  If the mounttin has
clouds around it, it’s not just a pretty scene. A mountain that attracts clouds helps the farmer In an agranan
society, this is an important symbol. " The exhibit, which will be at the Met untit Aug 20, juxtaposes schol-
ars’ rocks with paintings in which rocks play a symbolic function. The Met has long displayed scholars’ rocks
in its Astor Court, a re-creation of the garden of a scholar of the Ming Dynasty, which lasted from the middle
of the ¥4th century until the middle of the 17th.
Roelés; ‘Héarn points out, came to represent the virtues of the schol&rly class itself “They are emblems
of solidity,” he says.
31: Acoording to the author, either in “Alice in Wonderland” or in a Chinese panting,
-+ A) you can find some strange rocks
B) §birrean get some pictures
C) rock is not a rock
D) you may be surprised at the shape of the rocks
32. What can we learn dbout a European formal garden and a Chinese garden from the passage?
A) There are many sculptures in a formal European garden.
B) There are many strange rocks in a European garden.
C) There’are sculptures in a Chinese garden.
D) They are almost the same.
33. According to Hearn, a mountain with subsidiary peaks is an image of
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A) farm, B)«pancg and prospenty

C) war D) wonder
34 What does “emblem” most probably mean?
A) Recreation . B) Image C) Virtue D) Symbol.

35 Which of the following statements 1s NOT true according to the passage?
A) A mountain with clouds around 1t is not a pretty scene
B) The rocks’ role in Chinese paintings 1s very complex
C) Astor garden 1s a garden {from the Ming Dynasty
D) Rocks came to represent the virtues of the scholarly class itself.
Questions 36 to 40 are based on the follounrng passage

Here are two multimedia entertainment 1tems for children 5 years old and older that may guarantee ro
ments of mernment ‘

Roadsters, by Titus (For Dreamcast, $49 99) Video-ame driving simulations are more prevalent these
days than Elvis sightings, so | have a few words for developers: Take your me creating the product This ar
cade style racer offered enormous potential Featuring 30 of the more exotic, two-seat convertible coupes ¢ X
BRI E, SFERE), -uch as an Alfa Romieo Giula Sport; a gantlet of natural disasters to maneuver
through; and active pit ~tops; and this game could have been a contender  Unfortunately, short tracks, in
pectacular graphics anc game slow-downs really lall the utle Roadsters warrants a rental at best for beginners
trying to test their driving skalls

WuvLuvs by Trendmasters (Stand dlone toy, 4 AA battenes required, $29 99) Thanks to computer
chips and the marvels ¢f technology , toys have become incredibly mteractive fnends for children. A new pal
that could be considered the plush cousin of the Furby has heated up toy shelves around the country  The Wu
vLuv renunds me of a mutation {34k, #4) of Gnmace (Ronald McDonald' < milkshake-loving purple blob
of a buddy) and a Teletubby When first activated, the creature spits out a colorful egg that contams a baby
WuvLuv Parent and offspring bond verbaily and soon are singing the alphabet or “1t’s Bitsy Spider” to ne
another Children can pet the creatures ot croon 1o them to get a reaction  This may fall under the categorv of
“what will they think of next "

36 The author wnte this passage in order to _ __ __
A) teach the readers how to dnive
B) introduce two multimedia entertainment 1tems
C) introduce some computer prograrms
D) prove success in computer
37 Whch of the following statements about Roadsters 1s NOT true according to the passage?
A) It 1s designed by Titus.
B} It 1s a video-game for dnving.
C) It 1s designed for chuldren of 5 years old or older
D) 1t may cause disasters.
38 What 1s “Furby” according to the passage?
A) A computer program.
B) A kind of toy
C) A company 1n which toys are produced
D) A person’s name
39 Wuvluv s _
A) a standing alone toy
B) needs 4 battenes
C) the product of computer chips and technology
D) all of the above
40 Which of the following 1s imphed but not stated in this passage?
A) The two items offer children moments of memment
B) Roadsters warrants a rental at best for beginners
() Both the plush toys and Wuvluv are of great interest to chuldren
D) Roadsters 1s more popular than Elvis sightings



